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Question Number : 1 Question Id : 2549896241 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

In a computer all the deleted files go to :

Options:

1. v Recycle Bin

2. = Task Bar

3. » Tool Bar

4. « My Computer

Question Number : 1 Question Id : 2549896241 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0
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Options:

1. v fiEBFe o

2. % CT¥Fh dR

3. » TA X

4. = AT HYH

Question Number : 2 Question Id : 2549896336 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: O

Which of the following is NOT a type of microcomputer?

Options:

1. = Desktop

2. » Notebook
3. v Mainframe
4. = Table PC

Question Number : 2 Question Id : 2549896336 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 WrongMarks: 0
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Options:

1. » SEhaIT
2. = AT TH
3. v HIhH
4, = &el UTET

Question Number : 3 Question Id : 2549896362 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

You want to record your voice for a marketing presentation.
Referring to the given scenario, identify which device will you
use?

Options:

1. = Speaker
2. v Microphone
3. = Scanner
4. = Sound card

Question Number : 3 Question Id : 2549896362 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 WrongMarks: 0

3T 379 ATR{CT T & folT 370l 3marst Reps FTam
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Options:

1. % FURRT
2. v ATSHIHIA
3. = Tehal{

4. » 38 F2

Question Number : 4 Question Id : 2549896410 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 WrongMarks: 0
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Options:

1. v #efeT 3T STSeRT AT
2. % UTollchelal TTFaAd
3. » TOEcH WEmH
4.

x 3T T HINT (B2 oldel olddol)

Question Number : 4 Question Id : 2549896410 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0

The language that the computer can understand and execute
is called:

Options:

1. ¥ machine or binary language
2. » application software

3. ®= system program

4. = high level language

Question Number : 5 Question Id : 2549896554 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Storage space for Virtual memory is allocated in:

Options:

1. » RAM

2.« ROM

3. v HARD DISK
4. « PROM

Question Number : 5 Question Id : 2549896554 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 WrongMarks: 0

AT T (Virtual Memory) & ToIT Gargor 2Tel Thad
Mrafed TohaT 1T g7

Options:




1. = RAM

* ROM

v Hard Disk
* PROM

I

Question Number : 6 Question Id : 2549897681 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

The speed of Laserjet printer is measured in “ ",

Options:

1. = LPI
2. % DPI
3. v PPM
4. = LPS

Question Number : 6 Question Id : 2549897681 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0
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1. = LPI
2. = DP]
3. v PPM
4. = LPS

Question Number : 7 Question Id : 2549896311 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0

What is the Hexadecimal value of the decimal number 15?

Options:

1.+ F
2. %1
3.2 0
4. % E



Question Number : 7 Question Id : 2549896311 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

ZTHGT T&AT 15 T gFasfdad Al FIT &7

Options:

1. v F
2. %
3. = O
4. = E

Question Number : 8 Question Id : 2549896324 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

1s a relational database management application that is
used to create and maintain a database.

Options:

1. » MS Word

2. v MS Access

3. = MS Excel

4. = MS PowerPoint

Question Number : 8 Question Id : 2549896324 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 WrongMarks: 0

Tk RoleTael 3CeT HaoTAC Uitalheld & o8 3Tey
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Options:

1. = MS Word

2. v MS Access

3. = MS Excel

4. = MS PowerPoint

Question Number : 9 Question Id : 2549896366 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0



To listen to songs from your computer, you need to install
on your computer.

Options:

1. v sound driver

2. = graphics card

3. = network interface card
4. = TV tuner card

Question Number : 9 Question Id : 2549896366 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0
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Options:

1. v OI38 35ad
2. = IYTTthek HI8
3. = dAcdeh Selthd I8

4. » EHAT T TS

Question Number : 10 Question Id : 2549896441 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Which of the following memories allows simultaneous read
and write operations?

Options:

1. * ROM

2. v RAM

3. * EPROM
4. » EEPROM

Question Number : 10 Question Id : 2549896441 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

It H & le ¥ AART U 1Y T9da 3R felast &
sifeRerer @1 sregAfT 3T 87



Options:

1. = ROM
2. v RAM
3. * EPROM
4. = EEPROM

Question Number : 11 Question Id : 2549897645 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

Which one of the following type of mouse uses reflected light
to detect its movement?

Options:

1. v Optical

2. % Laser

3. * Mechanical
4. » Wheel

Question Number : 11 Question Id : 2549897645 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0
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Options:

1. v Miceshel
2. = ool

4. = e

Question Number : 12 Question Id : 2549897652 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

The ” display 1s made up of small picture elements
called pixels.
Options:

1. » CRT



2. * Monochrome
3. » Shadow
4. v Color Monitor

Question Number : 12 Question Id : 2549897652 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

" " 13T Bk DI 3AS gHsl ¥ e § S e *

T H ST AT &l

Options:

1. = CRT
2. % HIellshIA
3. = Q=

4. v Fold Hialed

Question Number : 13 Question Id : 2549897256 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

Which directory is responsible for device interfaces in Linux?

Options:

1. v /dev
2. % fetc
3. = /kernel
4. = fusr

Question Number : 13 Question Id : 2549897256 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

foreter g (Linux) & T2am=d setthd & v &ia dr AR
(Directory) SiFAER &7

Options:

1. v /dev

2. % fetc
3. = [kernel



4. = fusr

Question Number : 14 Question Id : 2549897859 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

What is the name of the Relational Database System made by
IBM?

Options:

1. » SQL server
2. = MySQL
3. v Db2

4. = Oracle

Question Number : 14 Question Id : 2549897859 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

IBM Z@RT a0 30 Rerereie S ATed &1 ATH T 87

Options:

1. = THFIUS (SQL) |
*» Alg-vqguel (MySQL)

3. v 22 (Db2)

4, = 3 aher (Oracle)

Question Number : 15 Question Id : 2549898686 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Mgl 3THT e (OpenOffice Calc) # el ISEVEN _ADD
(33) T AT 313eYe BEM?

Options:

1. = TRUE
2. = FALSE
3. % 1
4, v 0

Question Number : 15 Question Id : 2549898686 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 WrongMarks: 0

What will be the output for the function ISEVEN_ADD(33) In
an OpenOffice Calc?

Options:

1. * TRUE
2. » FALSE
3.1

4. v 0

Question Number : 16 Question Id : 2549897052 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

A topology in terms of a computer network is the:

Options:

1. v arrangement of a computer network
2. = speed of computer network

3. » capacity of computer network

4. = volume flow in a computer network

Question Number : 16 Question Id : 2549897052 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

HTYET sicaer H Tdrellell AT §7
Options:

1. v FY =g T cggeT
% YL dAcdeh hl TS

2.
3. * ®Y dAcaeh FI &TAAT
4.

» YT slcger H dlegH Fell

Question Number : 17 Question Id : 25498910855 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

farafafad & @ Silear v Feget 33eye 3arsq «gh &7

Options:

1. = foeT




2. % Tolled
3. = Trolerera
4. v HAE3H

Question Number : 17 Question Id : 25498910855 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Which of the following is NOT a computer output device?

Options:

1. = Printer
2. » Plotter
3. # Projection
4. v Mouse

Question Number : 18 Question Id : 25498911098 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Which of the following is NOT a function / application of a
webcam?

Options:

1. = Taking Still Photograph

2. » Uploading photos to a website
3. » Video conferencing

4. v Computer output device

Question Number : 18 Question Id : 25498911098 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0
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Options:

1. = e wieEmTra afar
2. = dgIEC U HICT 3Tells el
3. » GI3AT HicShradr




4, v FgeT 3H3cyc fsarsd
o o

Question Number : 19 Question Id : 25498913371 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

and is used in coding redundancy technique.

Options:

1. v Fixed length code, variable length code
2. = Non fixed length code, {ixed length code
3. #» Fixed length code, unfixed length code
4. = Fixed length code, byte length code

Question Number : 19 Question Id : 25498913371 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0
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Options:

1. v Th¥Es ooy FI5, aNVEA oldT Hig

2. % ool Theeg oldy +ig, Thees oldy &g
3. » Thaeg o9 IS, HAThaLS o9 HIS
4, » Thaes o7 FIT, F1SC il HIs

Question Number : 20 Question Id : 25498913775 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

In , message is converted to message digest.

Options:

1. = secrete Key algorithm
2. = public key algorithm
3. v hash function

4. = popular key algorithm

Question Number : 20 Question Id : 25498913775 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0
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Options:
1. = Icd Fal

% TTseleh <hl
3. v BT haeld

< A I (G

Question Number : 21 Question Id : 25498920541 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

A consistent and descriptive file naming convention serves
many purposes. Which one of the options is NOT an adequate
purpose for file naming?

Options:

1. = Retrieve and filter documents very quickly

2. = Store documents in a single folder without losing their
context

3. » Find and identify documents even if they are no longer in
their original folder

4. v Easily print the documents using a printer

Question Number : 21 Question Id : 25498920541 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0
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Options:
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Question Number : 22 Question Id : 2549897343 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Which file format is used to save Microsoft Windows screen
saver?

Options:

1. = .SCrs

2.« SCr
3. % SCrc
4. = WSS

Question Number : 22 Question Id : 2549897343 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Microsoft Windows TshieT @AY &l Haolel & TolT i & WIS
WHS T 3T RAT FTAT 72

Options:
1. = .scrs
2. ¢ .sCr
3. ® .SCIC
4. = WSS

Question Number : 23 Question Id : 2549898221 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

CERT =T ol &9 a7 &7

Options:
1. v FogeT AT T &1H (Computer Emergency

Response Team)

2. = PIS TFAUC ITAH a1F7 (Code Expert Response Team)



3. * FYT THFUS IETE 1A (Computer Expert Response

Team)

4. = FPT THFUE Y3 A (Computer Expert Rapid Team)

Question Number : 23 Question Id : 2549898221 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

CERT stands for:

Options:

1. v Computer Emergency Response Team
2. = Code Expert Response Team

3. = Computer Expert Response Team

4. = Computer Expert Rapid Team

Question Number : 24 Question Id : 2549898378 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

, Which resides permanently in the computer (stored in
a ROM chip) and contains just sufficient code to read the rest
of the operating system from disk.

Options:

1. v Bootstrap Loader
2. » POST

3. = BIOS

4. » CMOS

Question Number : 24 Question Id : 2549898378 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

S foh TR &7 & FYeT A War § (ROM =T A
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Options:

1. v Bootstrap Loader

2. = POST




3. = BIOS
4. = CMOS

Question Number : 25 Question Id : 2549898818 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

A computer __ is a group of computer systems and other
computing hardware devices that are linked together through
communication channels to facilitate communication and
resource-sharing among a wide range of users.

Options:

1. v network

2. = peripheral

3. » expansion board
4, = digital device

Question Number : 25 Question Id : 2549898818 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O
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Options:

1. v icdeh

2. = ORUel

3. » [OFdR (vagyere) S5
4. = T3focor fsamsw

Question Number : 26 Question Id : 2549899449 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0



A printer’s determines the image quality that it prints.

Options:

1. = price

2. = brand

3. v resolution
4. » model

Question Number : 26 Question Id : 2549899449 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0
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Options:

1. = Hed
o,

2. % §8
3. v {regere (Resolution)
4. % Higol

Question Number : 27 Question Id : 25498918446 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

captures an image of your entire screen and copies it to
the Clipboard in your computer’'s memory.

Options:

1. = Pause break
2. v Print screen
3. # Sys req
4. = Page up

Question Number : 27 Question Id : 25498918446 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0
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Options:




1. = Pause break
v Print screen

* 3ys req

I

* Page up

Question Number : 28 Question Id : 25498911288 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

To hear a distinct echo, the time interval between the original
sound and the reflected sound must be at least:

Options:

1. = 05s
2.+v01s
3.51s

4, % 108

Question Number : 28 Question Id : 25498911288 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O
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Options:

1. = 0.5 s
2. v 0.1 s
3. = 1 s

4, = 10 s

Question Number : 29 Question Id : 25498924486 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0

For which of the following file systems does Mac OS have
read-only features?

Options:

1. « FAT32



2.« EXT3
3.« EXT4
4. v NTFS

Question Number : 29 Question Id : 25498924486 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

fFTelEd & & T wEa fecd & olv Mac OS # shad
5 slieeh gRamdfse @ dar &2

Options:

1. = FAT32
2. = EXT3
3. = EXT4
4. v NTFS

Question Number : 30 Question Id : 25498925151 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Which of the following is used on a larger scale for creating
animation effects in movies?

Options:

1. v CGI
2. » CAD
3. % JPG
4. = IGF

Question Number : 30 Question Id : 25498925151 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

fheAT 7 TaATALST THE Folla & ow a2 TATe W aFareied
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Options:

1. ¢ CGI
2. = CAD



3. = JPG
4. = IGF

Question Number : 31 Question Id : 2549896227 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Which of the following is NOT true?

Options:

1. v Chatting is like an e-mail.

2. = Chatting is a real time communication.
3. = Chatting can involve multiple persons.
4. = Chatting is an electronic dialogue.

Question Number : 31 Question Id : 2549896227 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

SAH @ il FT FUT TT gl 57

Options:

1. v AT &7 FT g BT &

2. = T¢I Teh TIEdider JAT AN &
3.wﬂﬁﬁa§ﬁwmﬁﬁé¥mﬂ‘cﬁrd| TehdT &l
4. = JTEIT U SolFeiialsh TAE &l

Question Number : 32 Question Id : 2549896230 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

What does a Browser do?

Options:

1. = It looks through magazines and books in the library.

2. = It reads material really fast.
3. = It checks spelling and grammar.
4. v It is software used to view web pages.

Question Number : 32 Question Id : 2549896230 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0
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Options:

1. % SSSNT =hl fordmar 3R Feeiar &1 @3 FIar gl
2. % ThaT &7 1A ) g STog UG oidT &1
3. » ¥UE TdaT T TTRIOT T T HIdT &

4, v I§ 9 U SWa & ToI¥ STAHATS Blal dTall Th JiFeadad
gIcT &

Question Number : 33 Question Id : 2549896678 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

A is a command bar that organizes a program’s
features into a series of tabs at the top of a window.

Options:

1. = Tool bar
2. = Icon

3. = Tab bar
4, v Ribbon

Question Number : 33 Question Id : 2549896678 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

Ush UOT AT S alaT & o [@sh o oy uT wamd $r
fafersedrat (hredl) 1 <o T HTom H Fegeaitdd FIAT &

Options:

1. = gol ST (Tool bar)

2. = 3T5ehial (lcon)
3. = ¢& 9 (Tab bar)

4. v R@ (Ribbon)

Question Number : 34 Question Id : 2549896683 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0



In a new worksheet, cell A1 contains value 7 and cell A4
contains value 9. If the formula =COUNT(A1:A4) is entered in
cell B1, the following result will be displayed in a cell B1:

Options:

1.9
2.v 2
3.% 4
4, %5

Question Number : 34 Question Id : 2549896683 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

T o5 godlic #, @ A1 # AT 7 3w 3o A4 & AT 9 @ar
gl afg g7 = COUNT (A1 : Ad) |a B1 # ol Fham a3 g,
ar eafe@&a 9RumH 8 B1 & 371 ugieia gemn?

Options:

1. = 9
2. v 2
3. = 4
4. = 5

Question Number : 35 Question Id : 2549896684 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Address of the first cell in an MS Excel worksheet is:

Options:

1. %1
2.% A
3.vAl
4 = 1A

Question Number : 35 Question Id : 2549896684 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0



MS Excel aerellc # dgel del T 9dT 4T &IdT &7

Options:

1. % 1
2. % A
3. v A
4. = 1A

Question Number : 36 Question Id : 2549896687 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

The extension of file names of MS PowerPoint 2007 and
newer versions is:

Options:

1. v pptx
2. % potx
3. ® PPXS
4. = ppt

Question Number : 36 Question Id : 2549896687 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

MS PowerPoint 2007 33X sdldd TRI0N & WISl TAl &l
TeRHC Tl grdr gl

Options:

1. v .pptx
2. % .potx
3. ® .ppxs
4, = .ppt

Question Number : 37 Question Id : 2549897384 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0

Which function key is used to get help in MS Word?

Options:



1. v F1
2. % F2
3. = F3
4. % 4

Question Number : 37 Question Id : 2549897384 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

MS Word # AcE 9T o Tolv Tord Hheareld giw'lnl T Aeg ol
ST 87

Options:

1. v F1
2. = F2
3. = F3
4. = F4

Question Number : 38 Question Id : 2549898056 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Data that’'s arranged in columns or rows on a worksheet can
be plotted in a which compares the aggregate values of
several data series.

Options:

1. = XY

2. = Surface
3. v Radar
4. = Bubble

Question Number : 38 Question Id : 2549898056 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

& 3T Sif gehelle H TTAT (FiorH) T gFaar # wAsg Ram
ST &, I8 H Tolie fRaT ST Tehdr &, ST Fs 3l
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Options:

1. = XY

2. = Surface
3. v Radar
4. = Bubble

Question Number : 39 Question Id : 25498910434 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Identify the INCORRECT statement from the below options.

Options:

1. = In MS Word, the keyboard shortcut SHIFT+F3 changes
lowercase text to uppercase.

2. = In MS Word, the keyboard shortcut SHIFT+F3 changes
uppercase text to lowercase.

3. » In MS Word, the keyboard shortcut SHIFT+F3 can
capitalize each word

4. v In MS Word, the keyboard shortcut SHIFT+F3 increases
the font size.

Question Number : 39 Question Id : 25498910434 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

A TU a7 Fhedl & ITald U hl UgATd F|

Options:

1. = MS Word &, &g olidshe SHIFT+F3 a3d ¢ee &l
TR H Sl T &

2. » MS Word &, Freg elicehe SHIFT+F3 3cuqtehd SFEC &l
NITHT H o T &l

3. » MS Word A, FIag elicehe SHIFT+F3 wcdsh e6g
HTUCATSS L Tehdl ol




4. v MS Word A, HTAIE elicehe SHIFT+F3 Hive TR Sl
gl

Question Number : 40 Question Id : 2549896220 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Buying and selling of goods or services using the internet, and
the transfer of money and data to execute these transactions,
1s called

Options:

1. = E-World

2. v E-Commerce
3. » E-Spend

4. » E-Business

Question Number : 40 Question Id : 2549896220 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

gelalc ¢|W?TW§UHm?frql Jar3t &7 7 3’ T
FLAT 3T 5 I & olelce (TToiererd) I TasaIed el &
ToIT e Ifer &l SRR el hgeldl gl

Options:

1. = 3-des
2. v S-HiAY
3. = -¥Ug
4, = Z-foetad

Question Number : 41 Question Id : 2549896296 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

DNS stands for :

Options:

1. = Dual Number System

2. = Different Number Source
3. * Domain Name Service



4. v Domain Name System

Question Number : 41 Question Id : 2549896296 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

DNS T qoT &9 7 87

Options:

1. = 337el s f@¥eA (Dual Number System)
« BBie sax a1F (Different Number Source)
» BIA aid AT (Domain Name Service)
4. v AT a7 FB¥eH (Domain Name System)

Question Number : 42 Question Id : 2549898034 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

In MS Excel, chart depicts pie charts with user defined
values that are extracted from the main pie chart and
combined into stacked bar chart.

Options:

1. = line

2. » radar

3. = stock

4. v ple of pie

Question Number : 42 Question Id : 2549898034 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

e, MS Excel H, yARTRAT IRHATNT Hedl & 1o
T EIT& T gefefa ecr § foleg 97 arg A @ foAehrorey
T&h g T A SIST ST &

Options:

1. % oITSel



2. ® 8L
3. = Tk

4. v 9T 3TH 9T

Question Number : 43 Question Id : 2549898388 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Short cut key in MS Excel to Insert a threaded comment is:

Options:

1. » CTRL+SHIFT+O
2. v SHIFT+F2

3.« SHIFT+F10

4. » SHIFT+F1

Question Number : 43 Question Id : 2549898388 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

I3 FAC FT MS Excel H sTelel & OIT v 2llcehe giwﬂ T
TeT TRaT AT &

Options:

1. « CTRL+SHIFT+O
2. v SHIFT+F2
3. « SHIFT+F10
4. = SHIFT+F1

Question Number : 44 Question Id : 2549898893 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

The number of bits used to store a BCD digit is:

Options:

1.% 3
2. % 2
3.v4
4. %1



Question Number : 44 Question Id : 2549898893 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

ST HI2T SUTHS (BCD) 37l &l T o & TolT 3UAer
$T FATel TTell 9T T T&IT e A T Fiadr &7

Options:

1. = 3
2. % 2
3. v 4
4, % 1

Question Number : 45 Question Id : 25498910474 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

If a single word where all the letters are capital is selected,
then which two of the following change case options when
applied will provide the same output?

a) Upper case

b) Lower case

¢) Capitalize each word
d) Sentence case

Options:

1.=a,d
2.%a,C
3.=Dh,cC
4. vc¢,d

Question Number : 45 Question Id : 25498910474 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0



SIS TUeh UF Q16 bl I TohdT ST & ToTH AT 3eT &3 §,
ar fomer & @ Hia @ & 4 §&o (change case) fd&ed @M9]

Fel T Teh THTS 33CYT YTl Bl &7

a) 3TUT Ky
b) T3 g
c) UcAF 9IeE T F3T FY
d) TT Fa

Options:

1. = a, d

2. % a, C
3. %= b, ¢C
4. v ¢, d

Question Number : 46 Question Id : 25498910514 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Which one of the following command option is NOT present
under the "Layout” Tab in MS Word?

Options:

1. = Margins

2. = Columns

3. v Watermark
4. » Breaks

Question Number : 46 Question Id : 25498910514 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

MS Word & "oh33e" &F A farafai@d # & &l IT FAS
faehed HiS[E @dl &iar g7

Options:




1. = Margins
* Columns

v Watermark

I

% Breaks

Question Number : 47 Question Id : 25498910628 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Which one of the statement is FALSE with respect to "Line
Spacing” in MS Word?

Options:

1. * The amount of vertical space between lines of type.

2. = Line spacing is normally measured in points.

3. » There are many ways to set line spacing.

4. v Line spacing can only be set at Single, double, triple etc.

Question Number : 47 Question Id : 25498910628 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

ff@a & O i a1 Fg9a MS Word & "dgeT Taffer &
g H Ield 87
1p.wwa‘?ra1sa‘fa:aﬁ?r3ta‘rwwa‘?rml

2. « omgel RfFT T GrATead: g3t & Amr Sirdr g

3. * OlSel TUTHIT HC a oh g cileh &l

4. v oisad RieFa 7 g [erer, sad, fguer 3nfe 9T @c foRar

ST GehdT &1

Question Number : 48 Question Id : 25498913287 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

To add a module to visual basic application (VBA) project:

Options:

1. = in VBA screen on task bar click on tools > macros



2. v In VBA screen on task bar click on insert > module
3. » in VBA screen on task bar click on file > module
4. = in VBA screen on task bar click on tools > module

Question Number : 48 Question Id : 25498913287 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

fasiater IR vfterehers (VBA) Wioise & AIggd Siisd & fov
FAT FL7?

1. » SR I 9T VBA Ehiel H god> Hshlel IT Toreleh o

2. v TEH T W VBA Thle # o> ATggel W TFereh e

3. * TEH TR W VBA Tl H Wigel> AIGTel W fdeleh

4. » TEH T W VBA Ehie # Toa> Alggel W el i

Question Number : 49 Question Id : 25498910551 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

If you are working on an MS Word document, then the
operation given in the following figure will open the
menu.

margin on the lefi

Double-Chck inthe
or top of the page

Options:

1. v Page setup
2. = Page layout
3. = Insert

4. = References

Question Number : 49 Question Id : 25498910551 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0



gfe 3T vk MS Word Sieg#e W H1H T 1 &, dT
Tl &I 3Tl A GV 910 e #d &, o 98
Ael Trer 29|

O,

ETE 5 E
" 1

Double-Chck in the
miargin on the left
or top of the page

Options:

1. v O 839
2. » Ul of3I3¢

3. » EOC
4. » R

Question Number : 50 Question Id : 25498911062 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

A font format developed by Adobe and Microsoft. It combines
aspects of PostScript and TrueType font formats and is fully
scalable.

Options:

1. = TTF
2. v OTFE
3. = True type
4. » EXE

Question Number : 50 Question Id : 25498911062 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0



TSI 3T ASHIEIFe ZaRT [Iehild Hiee WIHAC| TE TECEHT
AT g 23T Wiee BIAC F & HF AT HLar & 3 b
T H ATIAT &I

Options:
1. = [ TTF
2. v .OTF
3. » ¥ (True) CI59
4. = EXE

Question Number : 51 Question Id : 25498918935 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Short cut key in word for applying the list style in paragraphs
is:

Options:

1. v CTRL+SHIFT+L
2. » CTRL+SHIFT+N
3. = CTRL+SHIFT+S
4. » CTRL+SHIFT+K

Question Number : 51 Question Id : 25498918935 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

BT H TS o T (Telfe TESel) T TANRT Fla & folw
ﬁlﬁﬁ@?—rﬁﬁﬁm%ﬁ'&hdi@ﬁ T T foRaT Srar &7

Options:

1. v CTRL+SHIFT+L
2. » CTRL+SHIFT+N
3. » CTRL+SHIFT+S
4. = CTRL+SHIFT+K

Question Number : 52 Question Id : 25498923991 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0



Who has formulated a four phase E-governance model?

Options:

1. v Gartner

2. = Phillips

3. » Rajaraman
4. = John Arthur

Question Number : 52 Question Id : 25498923991 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

TR TROT dTel $-3deig HAlSoT 1 fohdel JIR foram &7

Options:

1. v IMEAT
2. = ThRiercH
3. % ITSTTHA

4. % FTeT 3T

READING COMPREHENSION

Section Id : 2549893339

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 1

Number of Questionsto be attempted: 1

Section Marks: 5
Sub-Section Number: 1
Sub-Section 1d: 2549893352
Question Shuffling Allowed : Yes

Question Id : 25498914054 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53to 57)



All in a Day's Work

From shopping to learning, from working to entertainment;
technology has certainly a lot to offer when it comes to
leading your own way of life.

Right from the time we wake up to the time we sleep, it is
hard to imagine a day without using technology. Whether you
are travelling or relaxing in the comfort of your home, you
are sure to be surrounded by technology in some way.

With the fast expansion of Internet, social media and
communication, which has reached a point where preity
much anything is nowadays accessible with the simple touch
of a button: shopping, learning, working and entertainment
can all be accessed without any effort.

Technology has indeed improved our lives. With the help of
electronic components, we are able to read books online. Even
the way students learn have changed. Schools or colleges are
no longer the place where it was all about teacher-speaking-
and student-listening regime. With the increase in the
adoption of digital solutions, teaching has moved beyond the
one-way communication process to  inclusive  and
participatory process. "Today the learning environment has
metamorphosed to what we call a “smart class’ where
computers and content, teacher and the taught integrate in a
stimulating environment that not only challenges all
knowledge delivery mechanisms of a decade ago but also
dramatically improves the outcomes of education,” comments
an expert,

Even in our day-to-day lives, technology has changed the way
we live our lives. From washing clothes to cooking your
favourite cuisine; from securing your home from thefts to
capturing the image of your loved ones with your camera, life
has never been so convenient, thanks to various gadgets, The
growing technology has lot to offer to people who love to do
household chores but suffer from time constraints, From
cutting vegetables to washing clothes the latest range of
appliances comes handy all the time. Be it the touch screen
washing machine or high-tech refrigerators, household
appliances have facilitated our lives in many ways. The
developments in the home appliances segment have already
started in a big way with the advent of cocking videos,
refrigerator doors indicating you the temperatures and the
condition of food inside or the speaking gadgets, I think most
of the machines will become thinking machines in the near
future’, states a celebrity chef.



Sub questions

Question Number : 53 Question Id : 25498914055 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

Which aspect of social media impresses the writer the most?

Options:
1. = Range

2. = Speed

3. = Expansion
4. v Accessibility

Question Number : 54 Question Id : 25498914056 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

Which of the following home appliances does the writer refer
to?

Options:

1. ¥ Washing machine, refrigerator, camera

2. » Microwave-Oven, refrigerator, mobile phone

3. » Washing machine, vacuum cleaner, microwave-oven
4. = Refrigerator, oven, camera

Question Number : 55 Question Id : 25498914057 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

How does the chef think technology will impact the way we
cooK?

Options:

1. = Cutting vegetables and cooking will take less time

2. » Cooking and storing food will be easier

3. » Speaking videos will provide recipes

4. v Thinking machines will give instructions and advice

Question Number : 56 Question Id : 25498914058 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Which of the following technology impacts does the writer
NOT expand upon?



Options:

1. v The way we travel

2. * The way we do household chores
3. » The way we learn

4. = The way we cook

Question Number : 57 Question Id : 25498914059 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

What is the writer’s impression about the impact of
technology on teaching and learning?

Options:

1. ¥ He is pleased with what he has noticed.
2. = He 1s worried about the changes.

3. » He does not know about it.

4. = He does not want to discuss it.

Question Id : 25498914054 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
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Sub questions

Question Number : 53 Question Id : 25498914055 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

qrerel FHITSAT T hlel AT U] o1&k I Fad ATGT THITAT
RIdT &2

Options:

1. = &
2. = 0
3. = TaFdR
4.

v 98d &AM
e

Question Number : 54 Question Id : 25498914056 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

ATh A& # & ool T STHRION FT ool T §7

Options:

1. v girer 7, IR, FAUT

2. = ATShIdg-3Nide, INMheRel, AlTSd Hid

3. » GIreer Aefiel, JFgH Fellall, ATZshIdg-3Ndel
4. = INMpeeT, 3ideT, HaAT

Question Number : 55 Question Id : 25498914057 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

AW kI AT & AR, FAR FlT Seflal T FlRAT FI Teheileh
IEXICEI SR E N EGRE T I

Options:

1. = gleoldl &I Flea 3T TTAT IRl H FH GHAT 3191
2. % eIl FaTal 3T HSRUT AT T &9

3. = @lolel dTel JITSAT STl T ATT FATIIT

4, v et grelr JAefe foder 3N Forg 2af

Question Number : 56 Question Id : 25498914058 Question Type: MCQ Option Shuffling: Yes




Correct Marks: 1 WrongMarks: 0

frfeiaa # & fre dicaifEerr weima &7 o o foEge aofer
aTel feram &7

Options:

1. v 99 dE& @ &8H T R &

2.« 90 RE O §H T & FIH N &
3.« o9 e ¥ 5@ dma £

4, » 99 T§ O &F 9&d &

Question Number : 57 Question Id : 25498914059 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

fRaToT 3T drEa 9T WiEAEERr o U o I H olEgeh
=T &7

Options:

1. v 39« ST &7 § 399 I Ided &
2.« 9§ dcodl & 9 A Rfaa &
g8 ST SR H gl SIedr &

3
4, = I 3 G IAT @l FlelT gl

u

QUANTITATIVE APTITUDE
Section I1d : 2549893340
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questionsto be attempted: 6
Section Marks: 6
Sub-Section Number: 1
Sub-Section 1d: 2549893353
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 25498914204 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0



What approscimate value should come in place of the guestion marck (7 in the following question? (You are not expected
to calculate the exact value,)

2l wgix7i=n
in 7 2

Options:

1. &= 68

? =% 72

3. % 93

A « 84

Question Number : 58 Question Id : 25498914204 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

frafafam wm & woa e (7) & T W AT AT T g ST (M9 FEE A A

TUTAT FET FAAT 21
22 walegl =9
ig 7 2
Options:

1. = 68

2. = 72

3 = 93

4, v 84

Question Number : 59 Question Id : 25498914224 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0



What should come in place of the question mark (?) in the following question?

1 .1
45 X32+7=20%of 120

Options:

10 .
1. = 15

2 » 10

4 = 15

Question Number : 59 Question Id : 25498914224 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

AT vea & woF BEa (?) & FUE W FiF O g&3r HTE?

1 1
4-— >{3§—|— ?7=1204T20%

5
Options:
10 -
1. = 15
2. v 10

Question Number : 60 Question Id : 25498914191 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 WrongMarks: 0

In the tollowing question, two equations numberad T and IT are given. You have to solve both the equations and grve
answer accordingly.

Lli2xa —x—1=0
IO 20y* —41y+20=10

Options:

1, % X2y

2. X>Y

3 » Relationship between x and y cannot be established

4.v X<

Question Number : 60 Question Id : 25498914191 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

frafatas oo &, o JHEer | 3 I B o §) @ el # o N T JeAN I 4
L 12x" —x—1=10
Il 209 —41ly+ 20 =10

Options:
1. = X2¥
2w XY

3. = x AT v % & g9 zuig & Far 51 g

Question Number : 61 Question Id : 25498914232 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0



o fordT @&ar &7 30% TRdT SEdt &1 @ "R S g, o

QIR EEAT AR ST U I§ ST &1 Ugell §EAT T gET HEAT
T 37T AT §7

Options:

1. = 4: 7
2w Fa 2
d. g BiB
id: o 25 3

Question Number : 61 Question Id : 25498914232 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

When 30% of one number s subtracted from another number, the second number reduces to its four-fifth, What is the
ratio of the first 1o the second number?

Options:
1. = 4:7

o
#
I
tn

I
Ll

4 v

Question Number : 62 Question Id : 25498914260 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0



What approximate value should come in place of the question mark (?) in the following question?

(You are not expected to calculate the exact value.)

V8938 X (5.96)2 =?

Options:
1. & 3050

A 3400

Question Number : 62 Question Id : 25498914260 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

ftefem ma & wa fEw (7) & T 9T At A T g AT (TR Fe A

TUTAT FET FAAT 21
VB938 % (5.96) =7
Options:

1. = 3050
2 = 3780
3. % 2340

4. « 3400

Question Number : 63 Question Id : 25498914328 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0



In how many different ways can the letters of the word *“THERAPY" be arranged so that the vowels never come
together?

Options:
1. = 720

# 1440

L2
2

3 % 5040

A« 3600

Question Number : 63 Question Id : 25498914328 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

g THERAPY F 3T 7l e M Aiw e s e e F = s v oy
3TT?

Options:

1. = 720

2 = 1440

3 % 5040

4. » 3600

GENERAL MENTAL ABILITY AND REASONING

Section Id : 2549893341
Section Number : 4
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6

Number of Questionsto be attempted: 6



Section Marks: 6

Sub-Section Number: 1
Sub-Section Id: 2549893354
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 25498910042 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

Which of the following words will come last if all of them are
arranged alphabetically as in a dictionary?

Options:

1. v Cautious
2. = Caution
3. = Caustic
4. = Cauterize

Question Number : 64 Question Id : 25498910042 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

e T=&T # @ i OT osg 3TAdH 30T Al 3T AT I
mﬂwﬁwamﬁrﬁmﬁmﬁﬁﬁ«?nw

Options:

1. v Cautious
2. # Caution
3. = Caustic

4. = Cauterize

Question Number : 65 Question Id : 25498910197 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

AN WwE & 34T TN Fefad § o ool @ ¥afad &:

Options:

1. % ZoTHTR
2. % QIhT
3. v T



4. = gILITOM

Question Number : 65 Question Id : 25498910197 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Paris is related to France in the same way as Delhl is related
to:

Options:

1. » Denmark
2. » Dhaka

3. v India

4. = Haryana

Question Number : 66 Question Id : 25498910195 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

faer &7 o9 & Tar gee g S felgdr & g &l

Options:

1. % GITATAT

2.%‘?-11_%'
3. = Tgld
4. v olhal

Question Number : 66 Question Id : 25498910195 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

Vitro is related to glass in the same way as Ligno is related to:

Options:

1. = Marble
2. » Metal
3. = Rock
4. v Wood

Question Number : 67 Question Id : 25498910276 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

Y Ted O 38T g 99T & o9 a3 4 hies O geraa &:



Options:

1. = Tailor
2. ¢ Yarn
3. & Costume

4. = Dress

Question Number : 67 Question Id : 25498910276 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

Paper is related to Pulp in the same way as Fabric is related
to:

Options:

1. = Tailor

2. v Yarn

3. » Costume
4. = Dress

Question Number : 68 Question Id : 25498912920 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

If letters from A to M were written, leaving space for one
letter between every two letters, and then the remaining
letters were inserted (in the space that was left before),
beginning with N and ending the series with Z after M,
answer the following question:

Which letter would be exactly in the middle of the eighteenth
letter from the beginning and fifteenth from the end?

Options:

1. = G
2.vH
3.%]
4 = L



Question Number : 68 Question Id : 25498912920 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O
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Options:

1. = G
2. v H
3. = J
4, = L

Question Number : 69 Question Id : 25498919033 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Which of the following is the same as Jhora, Bihu, and
Garbha?

Options:

1. = Kathakali

2. = Kuchipudi

3. v Bhangra

4. = Bharatnatyam

Question Number : 69 Question Id : 25498919033 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0
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Options:

1. = hefeholl
2.&3:%@

-



3. v ST

4. » ATJAICIA
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Question Number : 70 Question Id : 2549895245 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

The headquarters of World Trade Organisation (WTQO) is
located at:

Options:

1. « New York
2. v Geneva

3. = Rome
4. = Doha

Question Number : 70 Question Id : 2549895245 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

faed oI HatseT (SSecIaM) T ATATe Hhegl Tud g7

Options:

1. » AR
2. v Toiaar
3. % THA
4, = NG




Question Number : 71 Question Id : 2549895406 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

Phycology is the branch of botany in which we study about

Options:

1. v Algae
2. » Fungi
3. = Ecology
4. = Virus

Question Number : 71 Question Id : 2549895406 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

gereqcr TdaTel hl oTET WShlclioll H gH Tohdehl 3TEITel hid
Options:

1. v &are

2. * hdeh

3. = gRieufaehr

4.&%1@;

Question Number : 72 Question Id : 2549895587 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Read the given Assertion and Reason carefully and select the
correct option from the following.

Assertion A: Human diet should compulsorily contain glycine,
serine and tyrosine.

Reason R: Essential amino acid can be NOT be synthesized in
human body.

Options:
1. = Both A and R are true and R is the correct explanation of
A



2. = Both A and R are true but R is not the correct explanation
of A.

3. % Aistrue but R is false.

4. v A is false but R is true.

Question Number : 72 Question Id : 2549895587 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0
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Question Number : 73 Question Id : 2549895941 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

Who was the Viceroy of India when the Indian National
Congress was formed?

Options:

1. = Curzon
2. = Canning
3. = Lawrence



4. v Dufferin

Question Number : 73 Question Id : 2549895941 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0
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Options:

1. = ol
2. = hicldl
3. % oA
4, v SH¥el

Question Number : 74 Question Id : 2549895950 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

Who among the following was a founder of the Bharat
Naujawan Sabha in 19267

Options:

1. = Lala Lajpat Rai

2. v Sardar Bhagat Singh
3. = Lala Hardayal

4. = Sohan Singh Bhakhna

Question Number : 74 Question Id : 2549895950 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

1926 H HARA dloidiel THT & TEATTsh Tdeaiai™d H 8 hiad
9?

Options:

1. = ®Tell ollal9d 1Y

2. v TER HId N8

3. = olTell glcdTel

4. = OgaT g AThal



Question Number : 75 Question Id : 2549899689 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

SREdT GEaS ASAT(2012-17) T ACT 3T gl

Options:

1. = @iFAferd i va ar&r $T FHAr

2.« GiFATIT va reehiioen gig

3. * SUSENT T FH Flel g ANEhIelh U HTFATT Jig
4. v ofrerad, drdepifers va 31fdes dfFAfea gig

Question Number : 75 Question Id : 2549899689 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

The main objective of the 12th Five Year Plan (2012-17) is:

Options:

1. = inclusive growth and poverty reduction

2. = Inclusive and sustainable growth

3. » sustainable and inclusive growth to reduce
unemployment

4. v faster, sustainable and more inclusive growth
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Summer camps are supervised camps conducted to entertain
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Pollution is the common waord that wwe hear «very other day
al sehool or collegs and read aboul 1Lt newspapers. Bul
Iefore starting the topic you should know the real meaning of
Impurily. Pollulion ocours when wasle conlaminale Lhe
natural surroundings which hrings about changes that affocts
aur normal lifestyles, Pollulants ave the elements of pollulion
which are gencrally waste materinls of different farms.
Pollution ooccurs in different forms and every [orm of
pollution heas two sources of occurrenes that is the point and
the nonpoint sources, The point sonrces are easy to identify,
monitor and control whoreas the noonpaint sowrces ace hard
to contral, Let us discuss the different tvpes of pollution and
their ellecks on human das well a5 e enviromnmenl. Alr
Polluticon is the most danegerons form of pollution, It ocours
due Lo many reasong. Excessive burning ol luel =& nead ol
aur daily lives for cooking, driving and other industrial
gelivities, 1L relegses a4 huge amount ol chemical substances in
the air cvery day. The release of sulfur dioxide and other
hazardeus pases inlo e alr causes elobal warming and acid
rain which in tirn have increased tomperatiures, crratic mins
and deowghits worldwide, All these things have made it toneh
for the animals to sarvive. Water Pollution has taken Tives of
Imany survlving species of the earth, It ocours due to several
lactors like Lhe industeial wastes dumped inlo e eivers iand
ather water hodies leads to an inBalance in the water leading
Loy s severe impureness and dealh ol dgquatic species. Sotl
Pollution occurs due to the unwanted chemicals in the soil.
Lse ol inseclicides and peslicides dbsorbs e nilrogern
compounds from the soil which makes it unfir for plants o
exlract nulrition, The release ol induslrial waste, mining, and
deforestation alsa offects the =oil. Sinee plants cannot grow
properly ey cannol hold the soil and this Ieads (o soil
erasion. Noise pallution is cauand whon notse which is an
unleasant seund affects our ears and leads o psycholegical
probloms like stress, hyperionsion and sooon. I is caused by
machines in industries that creates loud sound, Radioactive
pollwtion g highly dangerous when it ocours. TLecan happen
due to nuclear plant malfunctions, accidents, ete, It causes
cancer, nlertility, blindness. delects 4l Lhe Ume ol birth.
Thermal heat pollution is due ta the exeess heat spread in the
enviconmenl crealing winwanted changes over leng Lime
porieds that is due to the tons of industrial plants,
deloreslalion, and air pollulion. I ncreases the lemperalure
af earth that causes drastic climatic changes and extinction of
wildlife, Lipht polution scours Aue o excess clarilication of
an ared. Tt s Iargely visible in big citics on advertising boards
and llhoards. n sports of entertairenent events at the night
The lives of the Inhabitants in residential areas are severaly
affected by this 1t alse affects ob=servaticns and activities that
are done by zmeeing e stars. Hence, wilh all sach information
you rnight have nnderstood how inportant is to take
pollution seriously. ICcan ellech vour heallh or can lake [ves
af many.
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